Math 3
Take out homework
Warm -Up

Use the tollowing information to complete problems 1-3.

1. Felix has a rectangular sheet of aluminum that measures 40 cm X 50 cm. He wants to create a
box with no top by cutting congruent squares out of the corners and folding up the sides. What
function does Felix have to maximize to create the box with the largest volume? What is the
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2. What size squares does Felix have to cut from the corners of the aluminum to maximize the
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volume of the box?

3. What is the volume of the box?
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Solutions to Systems of Equatlons with Polynomials
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« |f the equations overlap,
they have an infinite
number of solutions.

* This is an example of a
dependent system.

Solutions to Systems of Equations with Polynomials
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+ |f the equations
intersect, they have a
finite number of
solutions.

* This is an example of
an independent system.



Solutions to Systems of Equations with Polynomials
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Example 2
Use a graph to estimate the real solution(s), if any, to the system of equations.
Verify that any identified coordinate pairs are solutions.
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Example 3

Create a table to approximate the real solution(s), if any,
to the system
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Lg(x)=x*+3x" +1
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For problems 8-10, each table shows values for two functions in a system of equations. Based on
the table, what conclusions can you draw about the number of solutions and the x-values of any

solutions?
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